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Technical English Test Masters Level 2 (Pre-Intermediate)
Progress Test 6 (CB2 Units 11 – 12)  
There are 60 questions. Answer all questions.
Section 1: Vocabulary
1
Write a word from the box in each space. You don’t need all the words.

	reduced / cruised / accelerated / idled / decelerated 


1
I drove the car at 80 km/h. Then I saw a sharp bend in the road, so I __________ to 30 km/h.

2
I stopped the car at the traffic lights and waited as the engine quietly __________.

3
When the car reached 70 mph, I __________ for about ten minutes at the same speed.

4
I saw an accident in the road ahead, so I __________ my speed from 70 to about 10 mph. 
2
Match these headings with the information in the box. Write a letter (A – D) next to each heading.

5
Operating principle: _____

6
Method of manufacture: _____

7
Benefits and drawbacks: _____

8
Recommended modifications: _____

A
The device is produced by assembling the small components into modules, and then assembling the modules into the finished product.

B
The new alarm system is based on a combination of laser technology and radar.

C
To improve the performance of the engine, a stronger seal should be used.
D
Fortunately, the car engine is clean and durable. However, it is quite noisy.
3
Write a word from the box in each space. You don’t need all the words.
	emission / consumes / emits / input / rotary / consumption / accelerates / rotation / acceleration / renewed / output / renewable



9
When the car __________ to a high speed, it uses power from the ultra-capacitor.

10
The power __________ from this new type of engine is 1020 kW.

11
This 4X4 vehicle has a high fuel __________ : it does less than 5 km per litre of fuel.
12
On a 3200-km journey, the average plane __________ one ton of CO2 per passenger.
13
This lightweight hand-held power drill has a __________ speed of 3950 rpm.
14
We need to use __________ energy sources such as the wind and the sea. 
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Section 2: Grammar 
4
Choose the correct answers. Write a letter (a – d) in each space.
15
The hand-held scanner pen is based __________ OCR technology.


a) on

b) for

c) of

d) with

16
Walter and Johan _____ at Poznan University from 2007 until 2008.


a) have studied


b) study 

c) studied


d) were studied

17
Radio signals are transmitted to the satellite, which then _____ the signals to Earth.


a) is transmitted


b) transmitted




c) are transmitted

d) transmits

18
The bridge was constructed using a new type of steel _____ was invented last year.


a) and

b) which
c) when

d) it
19
How do you think the design of the new bicycle _____ be modified?


a) needs
b) has
 
c) should
d) is

20
These earthquake-resistant houses were _____ using trusses or shear walls. 


a) building
b) build

c) builded
d) built
21
One major disadvantage of hydrogen fuel is _____ it is very expensive to manufacture.


a) that

b) this

c) since

d) but
22
Last year a new oil field __________ under this part of the desert. 

a) discovered


b) was discovered 


c) discovers


d) was discovering 

23
OK, so now _____ move on to the next topic on our agenda.


a) we let


b) why not let’s



c) let’s



d) let’s we
24
These powerful new fire sprinklers should _____ in all our new buildings.


a) have installed

b) install




c) be installing


d) be installed 
25
The purpose of my presentation today is _____ you our new product line.


a) for showing


b) by showing



c) to show


d) that show

26
The GPS system uses about thirty satellites _____ in orbit around the Earth. 


a) positioned


b) which positioned



c) are positioned

d) positioning
27
Three years ago we purchased fifteen engines _____ General Motors.


a) which manufactured

b) manufactured by


c) which were manufactured
d) by manufacturer
28
I would like to end my lecture this morning by thanking you all _____ here.

a) you came


b) to come



c) and coming


d) for coming
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Section 3: Reading
5
These phrases are missing from the text about hydropower. Decide where they fit. 
Write a letter (A – L) in each space.

A
was used to operate machinery and to grind grain

B
drive generators that produce electricity
C
to be transmitted to houses, businesses and factories

D
have used the energy from flowing water 

E
of the world's electricity

F
than 1 billion people
G
carrying water from the reservoir to turbines inside the powerhouse

H
than at any other time in history
I
transferred to a substation

J
into electricity
K
a dam, reservoir, penstocks (pipes), a powerhouse and an electrical power substation
L
to store water and create the head
Hydropower
Purpose 

Hydropower converts the energy in flowing water (29)__________. The quantity of electricity generated is determined by the volume of water flow and the amount of "head" (the height from turbines in the power plant to the water surface) created by the dam. If the flow and head are increased, more electricity is produced.
Main components and their function

A typical hydropower plant consists of (30)__________. The function of the dam is (31)__________. 
The penstocks are for (32)__________. The water rotates the turbines, which (33)__________. The electricity is then (34)__________, where transformers increase the voltage to allow it (35)__________.
History 

Since the time of ancient Egypt, people (36)__________. In those days, hydropower (37)__________. However, during the 20th century hydropower was used more (38)__________. Hydropower played a major role in making the wonders of electricity a part of everyday life and increased industrial development. Today, hydropower produces about 25 percent (39)__________, and it provides power to more (40)__________.
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Section 4: Writing 
6
Complete this description of car navigation systems and how they can be 
improved. Use the notes in the chart.
	Car satellite navigation systems (SatNav)

	41
	definition 
	directions given to driver 

	42 
	history (1)
	1978 launch of first GPS satellite 

	43 
	history (2)
	1990 Pioneer Corp manufactures first GPS car system 

	44 
	main components
	screen, receiver, computer, keypad 

	45 
	function of receiver 
	communicates with satellite

	46 
	location of unit 
	car dashboard (attached with screws) 

	47 
	operation (1) 
	communication with satellite 

	48 
	operation (2) 
	screen displays car’s location and direction 

	49 
	operation (3) 
	driver keys in destination (uses keypad) 

	50 
	operation (4) 
	computer calculates best route, gives audible directions 

	51 
	disadvantage 
	difficult to use keyboard when driving 

	52 
	recommendation 
	install voice recognition software 


41
SatNav is an electronic system that ________________________________________. 
42
In 1978, the first GPS satellite was ________________________________________.
43
The first ____________________________________________________________.
44
The SatNav unit consists _____________________________________________.
45
The receiver’s function _____________________________________________.
46
The SatNav unit is __________________________________________________.
47
This is how it works. First, the system __________________________________.
48
Then the car’s location and direction of travel ___________________________.
49
The driver’s destination __________________________________________________.
50
Finally, the best route _______________________________________________,


which gives _______________________________________________________.

51
One drawback of _______________________________________________________

_________________________________________________________________.
52
To improve the system, __________________________________________________.
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Section 5: Listening 
Track 7
7
You will hear this talk twice. Write T (true) or F (false) next to each statement.
53
SACC stands for Smart Accident Cruise Control. _____
54
The purpose of SACC is to prevent your car from getting too close to the car in front. _____
55
Michela thinks it is impossible to prevent an accident if the car in front stops suddenly. _____  

56
Michela expects that SACC will prevent your car from suddenly stopping and causing an accident to the car behind. _____

57
The SACC system uses a laser sensor located on the braking and acceleration systems. _____
58
If your car moves too far away from the car in front, SACC will automatically increase the acceleration. _____ 

59
If your car moves too close to the car in front, the SACC system will prevent you from accelerating. _____
60
You key in the distance you want to keep between you and the driver in front, but if it’s raining, the computer will automatically increase this distance. _____
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